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SECTION A (65 MARKS) |

I catculate (0.25x600) + (40 + ) (2 marks)

2

From the diagram below, find the size of angle

xandy. (2 marks)
/ /
/ 159

/Y

3 I A car travels 100km in 1% hours. Find it's
- || average speed. (2 marks)

Solve: 2x—4 = Bx - 10 (2 marks)

§ | Simplify: 12 — — (2 marks)

[e>}

Calculate the LCM of 15, 24 and 30 (2 marks)
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-7 | Simplify: 4a®b® = 2ab® (2 marks) 8 | The sum of two numbers is 48 and their
difference is 12. What are the two numbers?
-1 (2 marks)
9 | Find the size of angle abelow (21 ks) 10 | What are the missing numbers in the
a0° calculation below? (2 marks)
 JEET - R,
A s T e 5
2 2 5 38
163 i
11 | Arrange these fractions in ascending order 12 | Write in short form: (2 marks) e
0.54, _g ’,z_(z)_ (2 marks) 3(x—2y)—2(x+y) + 15y
— § R
13 || Calculate the HCD of 20, 50 and 70 (2 marks) | 14| .. .. 625+ V2725
o Sirnplify: P (2 marks
%
156 | Complete the table below: (2 marks) | 16 Express the following quantities asaratioin
the lowest terms: 160cin and Smetres.
10 5 2 1 (2 marks)

0.1 0.5
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17 | What is the interior angle sum of a 15 sided ‘187 i Calculate the area of a rectangle whose
polygon? (2 marks) . verimeter is 24cm and width is 2cm shorter
' | than the length. (2 marks) |

19 | John made a simple interest of 40 000frw in 2 | 20 | How many triangles are in the zrcfcmgle AscD
years at interest rate of 5% per year. How below? (2 marks)
much money did John bank? (2 marks)

21 || 30 eggs weigh 1800g. How many g would 12 22| A map is drawn using a scale of lcm to Skm.
- || eggs weigh? (2 marks) What length on the map represents 2km?
(2 marks)

23 | The selling price of a bicycle is 54 000frw and | 24 | Find the next two numbers in the following
the profit is 20%. What is the cost price? sequence

(2 marks)
1, 3, 12, 60, (2 marks)
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25 [ A+ 3n . pencil cost 150frw altogethe. .~ |~ tatare banks 50 000frw at 8% per . -ar

pens and 3 pencils cost 650frw. How muct

type =~ =r2 the pencils) (2 marks)

217

Suzan ;5 1000frw for 2kg of sugar after a
shopkzeper reduces the price by 20% per
kg. "Whe! is the original price of 1 kg of

sugar? .7 iarks)

29

Apath ol ¢ui:'ong and 1.2 m wide is to be
cover«ziivrith square tiles of side 20cm.-Wha:
is the number of tiles needed? (3 marks)

woulZ a2 pencil cost? (pens are of the sair:

i compound interest. What is the inter=st for
%a two years? (3 marks)

-

<he perimeter of a semi-circle is 36c.

- R 23
. (Jalculate the area of the semi circle. (zc = ~7—)
. 3 marks)

» ",\T'}Gkg of beans costingié&/kgﬁ sre mived
ith 200kyg of another type costing : 201/kg.
~hat is the cost of 1kg of the mixture?

LKS)
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. SECTION B (Choose any 5 questions-35 marks)

31 | The figure below is of a right angled triangle. (7 marks)
(a). Calculate it’s perimeter (b). Calculate it's area
gem < - —
- + 3
32 (a). Solve: - : S I (4 mark:)
PRl 2 __ 2 . 1
(b). Use the answer from part (a) question and find the value of: - j e (3 marks)

33 | Ahollow pipe of length 10m has an inner diameter of 40cm and an outer diametex of 44cm.
Calculate the volume of the pipe material. (7 = 3.14) (7 marks) '

34 | Awater tap can fill a tank in 5 hours. A second water tap can fill the tanic in 7 hours. How long
would the two taps take to fill the tank if they are turned on at the same time? (7 marks)

35 | 40 students were asked their favourite sports. The Pie chart represeifé the éﬁ&féé [or the various
sports. Find the nurmber of students who like each sport. (7 marks)
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36

A hotel uses 10kg of rice per day. The cost of rice per. kngBOOfrW
(2). How many kg of rice does the hotel use per week? (2 marks)

(b). How much money does the heitel pay for rice per week? (2 marks)

(). The hotel budget for rice per week is 50 000frw. What percentage of money is not used per

week? (3 marks)

37

The graph below shows the movement of a'car -
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From the graph answer the following questions.

(3). How far has the car travelled in 6 minutes? (1 mark)
(b). What time does the car take to travel 15km? (1 mark)
(c). For how long does the car‘stop? (1 mark)

(d). Find the average speed of the car. (4 marks)




